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ALGERBRAIC E»PRESS\ONS

SIMPLIFY:

1. Terms may contan Fractions (division) or brackets (mu’b'_p'l&)
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2. Terms are separatecl oy -I—_ ar = "5'8'_"5-
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|a. %impli&' expressions b:‘, 3rou_p'nvu3 like terws -l:c;sﬁe'then
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t. Which of these expressions are polynomials? If the expression is a polynomial,

3 describe the polynomial by the number of terms it has. _
@ 13 +52y — B a3 6
i Q) y+y+12 : d} - Loy
| 2 Nrite down whether these polynomials are monomials, binomials or
inomials. i v
&) -4xyz b)  174%c + bed - 112ac
&) 2a+(3a-4)p? d)  24mn - 6(mn)? -2
€) (3a-4b+6¢) f)  4lbc+42bd - 43ac
2. Smplify if possible. :
& 26a+4a-8a : b) 17x-12x+33x
3 3a-2? d)  15abc - 22bca + 13ach
& y+2-3y f)  10m?n - 6m?n + 4m?u i
A S:mplify if possible.
& 2a-3b+4a-5p b)  6xy+ 2xy~xy
Vo) n+n+n+n d) n+m+n+m
& 9s5-s | ) Tcd+4df+3cd - 4df

DEGREE OF Exprgssion

- Deqree dF expressioy) -> h‘ua\nest power o‘F ﬂ\e variable .
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- a) Hrite  the expresSion m AeScende powers oF <.
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b) What is  the c\ec\v-ee o'p ‘Hq'us exPression? 7
D IWNhat is the walue of tHe expression when x* = -1,
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= B () + C—D -3(1) +u (-0) -2

= D -1 =3 -4 2

~

= —~\2
. ' 1. Write down the constant term in each of these expressions. '
- a) 5r-2+3-6x b)) A+ 13- +4x -t
) ’ <) —2x2—2x3~6—5)c3 d) -36-6x+3x-12¢
2. Use this expression to answer the questlons that foﬁow
Tx+5x-3x2+12-6x~4+ X2 —
a) Sxmphfy the expression and write the s;mpl:ﬁed expression indescending
 powers of x. , =1
by How many terms are in the snmphﬁed expression?
¢} Write down the value of the constant term. -
d) Write down the coefficient of the x term,
- e} What is the value of the expression if x = 1? ‘ 7
L ' 3. a) Write an expression for the penmeter of a rectangle where the fength 15—
X1 {x + 4) m and the breadth is (x -~ 1} m.
| - b) Simplify the expression. —
X+4 . €) Ifx=5m, calculate the perimeter of the rectangle.
b -@)" Write this expression in descending powers of x and simplify where :
~ possible: -6x7+5- £+ 72 11 + & . - —
b) What is the degree of the palynomial?
= 2 vx=3andy=-2 findthe value of these polynomials.
d) 4x-3y . . b}  xy*-2x ’
&) 3x%y+ 2y d) 4(2yp
L @ -y fy -y
3. Samis x years old. Write down a formula to show how old he will be:
i a) in 4 years'time b) inxyears'time ¢)  in3ayears'time.
COMBINED OPERATIONS
- The sum of postive terms ie positive. en 23 + 2x = 4&X

2. The sum oF neaetive terms is negative. eq: -3 +(-3x) = -6x
4 S/ J —

emswer takes e Sign O—P the biqﬁer number,

3. AC\C‘MS\J positive and negaﬁve_ terms — $ub-l:r-cci‘ | but the
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eq: DAl olibed bl STapmoredhyditzerenPl + 15e)

6?‘4 + +bf7c + 12a - 10b + 15¢

= 6a + 12a + 4b - 10b -Tc + B¢

= Ba -6b + R

. Sub‘l:r‘ac"rmq expreesions > Start with the expression et

comes odter the word “From ”, Then CL\CLV\C:\C the Slqve, JF the

sec.onA ex pressl on,

J

eq.. %ub'trac‘t (Bac; + &.1 - IO-,_) -prom ('T'JC_ 2y + ‘\8 1.).’
J

1 = - 12y +|<5—z_ - (3::. + By - |Oz)

T =12y + B2 - 33 - By + 1Dz

¥

\

Toe -Boc =124y -8y + 132 + 102
T

!

Ghoe - iO»\ + 2F =2
=3 .

1. Add these polynomials.
a)  (Bx+13y-102) + (14x- 11y +122)

b) (a-15b+11c)+ (-8a + 17b~11¢)
¢) {~4mP+7m+8)+{-3m*-8m~9)
(

d)  (3x% - 4x - 6) + (=3x% + 4x + 6) ' ' T - —

L 2. Subtract these polynomials.

a) (15a+24b+13c)'—(12(1+18b+ﬂc)
b) (10x+12y-82) - (9x~10y+22) -

¢) (Ba-5b+14c)-(18a +7b - 25¢)
dy (2m*-6m+9) -~ (-2m?-12m-9)

3. Subtract (5m + 6n ~ 4p) from (8m - 2n - 7p).

4, From(x*+7x-9), éubtract (2x1 - 3x + 4).

MuLTWPLY AND DWIDE

1. Like and g‘h\ike terms con be muH:npln cmA Anuc\ecl
2. Mu\ﬁp\‘\wﬁonéac\d exponevﬂ:s. eq: 25&» x &a = 100a>

o

6 ab
6a(l).

u

o 3
2. Division - substract exponedts. eq: 2t a b + 4a'b
) i - o g

1l

= 6a



A

x. ARQWBEIRECAnBHOp) &iaamodept\g/élcéaqom revaine the same.

3
€q: 0) "360‘ X | = —'36q,

2 2

D _4-?.‘0:“']: 4-‘2)0

5. A\nq ’cerm mu|hp\|eA bq O = zer0. €. 2c % O =

=
6. '\'erms cavnct  be Awnclec\ 'oq O. %: ba - O = L.Mcle'pmecj_
. Brackets indicete mul‘hp\nccd?lo\’) eg. 7—(.3c,>—- b

¢ Factorise expression = . pu“ out common %d‘or csncl

write the r-emamc\er‘ JF the termg within  brackets,

eq. A +12 = 4 (= +3)

~J

q. Expcmcl expressi_cm—; m"dﬁp‘j »e.ve__rﬁ +terw 'msic\e_. ‘t:\qe
bracket bu\ the number 'ou'bsicle the bmcke‘b‘

—_— o —3 s
eq . 3(:@ e ‘E;) 5::c +6:>c.—°l

1. Simplify.
a)  12mx30mn b) 36p°+9p
c) 2p X 3p? x 4p° d)  144xH? + 12xy
2. Simplify. '
2)  184%° x 2ab + 12a% . b) 50¢?+25¢ % 8¢
€)  2m X 3mn + 6n d) 14p*+7px2p?
3.. Simplify. RS , : i
5 .
a) 44 +2b | b) Sa;r 7
6x+1 . 6a+18b-12¢c
= e

4. Expand the following:
a) 3(5x+6) b 8x-2y)

& <42+ 4) _ : dy -(&x-7v)

5. Expand these expressions and simplify where possible,
a) 3b+3)+2(b-6) b) ~(6+2m)+32m-1)

<) 5(2x-6)-6(4x+9) . d)  2(5x+y) -3 -4y




